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 Please read the questions carfully and choose the best fit answer (1 point each): 

1. Which of the following quantum number (q.n.) describe the orbital shape? 
A. ml, magnetic q.n.                            B. ms, spin q.n.
C. n, principal q.n.                               D. l, Angular momentum q.n.
2. Which of the following quantum number combination represent the 5th electron in a nitrogen atom?
A. n =3, l = 1, ml = -1 and ms = +1/2             B. n = 2, l = 0, ml = 0 and ms = +1/2
C. n =1, l = 0, ml = 1 and ms = -1/2               D. n = 2, l = 1, ml = -1 and ms = +1/2
3. The correct electron configuration of 27Co+2 is
   A. 1s22s22p63s23p64s03d7             B. 1s22s22p63s23p64s04d7
   C. 1s22s22p63s23p64s23d5             D. 1s22s22p63s23p64s24d5
4. How many valence electrons does 27Co [Ar] 4s23d7 have?
  A. 9              B. 27
  C. 2              D. 7           
5. Which of the following has the strongest paramagnetic property?
    A. Cr             B. Mn
    C. Ti              D. V           
6. Which of the following compounds represent metallic bond?
  A. KCl                   B. CH4  
  C. AuCu                D. SF2             
7.  Arrange fluorine, chlorine, carbon and silicon in order of increasing electronegativity.
   A. C < Si < F < Cl	        B. F < Cl < C < Si 
   C. Si < C < Cl < F     	        D. C < Si < F < Cl            
8. Oxygen and hydrogen combine to form water. Calculate (in kJ) the standard enthalpy change ∆H° for the reaction written below, using the bond energies given.                                  Bond:       OO        H-H          O-H
O2(g) + 2H2(g) 2H2O(g)                                                                      Bond energy (kJ/mol):        498         432          467
A.  -563 kJ                B.  -506 kJ 
C.  231 kJ                 D.  704 kJ                                                                                                                                          
9. Arrange the following bonds in order of increasing bond length.
   A. C-Br < C-Cl < C-F < C-I	        B. C-Cl < C-S < C-P < C-Si 
  C. C-Si < C-P < C-S < C-Cl	        D. C-I < C-Br < C-F< C-Cl
10. Select the most polar bond amongst the following.
      A.  B-N              B.  B-F 
      C.  B-C              D.  B-O              
11. How many lone pairs are on the central atom in a molecule of SCl6? 
      A.  2                B.  3
      C.  0                D.  1                 
12. Acetylene (C2H2) is used in welding and cutting metals. The CC bond in the molecule C2H2 is best described as a:
 A. ionic bond                   B. triple bond 
 C. single bond                 D. double bond                     
              
13.  What are the formal charge (F.C.) and the oxidation number (O.N.) of carbon in CO3-2?   
  A.  F.C.= -2 and O.N. = +2               B.  F.C.= +4 and O.N. = 0    
  C.  F.C.= 0 and O.N. = +4                D.  F.C.= +2 and O.N. = -2              
[image: ][image: ][image: ]14. What is the most stable resonance form of SCO?   
      A.  Form I         B.  Form III    
      C.  Form II        D.  I, II and III are equally stable.        
15. What is the molecular shape of PCl5?   
      A.  Trigonal bipyramidal                  B.  Seesaw   
      C.  Trigonal planer                          D.  Tetrahedral              
    16. Which of the following has a dipole moment? 
  A. SCO-1             B. CH4
  C. CO2                D. CS2           
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1 2
H He
3 4 5 10
Li | Be B|{C|N|O|F|Ne
" 12 13 14 15 16 17 18
Na | Mg Al|Si| P | S |CI|Ar
potassium calcium scandium fitaniurm vanadium | chromium | manganese: iron cobalt nickel copper zinc gallium ‘germanium arsenic ‘selenium bromine: krypion
19 20 21 22 23 24 25 26 27 28 29 30 31 32 33 34 35 36
K | Ca Sc|Ti|V |Cr|Mn|Fe|Co| Ni|Cu|Zn|Ga|Ge|As|Se|Br|Kr
37 38 39 40 4 42 43 44 45 46 47 48 49 50 51 52 53 54
Rb| Sr Y | Zr |Nb|({Mo| Tc |Ru|Rh|Pd|{Ag|Cd| In |Sn|Sb|Te| | | Xe
55 56 57-70 ul Tx 73 74 75 76 7 78 79 80 81 82 83 84 85 86
Cs|Ba| * |[Lu|Hf | Ta| W |Re|Os| Ir | Pt |[Au|Hg| Tl |Pb| Bi | Po| At | Rn
132,91 137.33 174.97 178.49 180.95 183.84 186.21 190.23 192.22 195.08 196.97 200,59 204.38 207.2 20898 [209) [210] [222)
87 88 89-102 103 105 106 107 108 109 110 112 114
Fr |Ra|* x| Lr | Rf | Db | Sg | Bh | Hs | Mt |Uun|Uuu|Uub Uuqg
[223) [226] [262] [261] [262] [266] [264] [269) [268) [271] [272) [277) [289)
*Lanthanide series 58 59 60 61 62 63 64 65 67 68 69 70
La|Ce| Pr|Nd|Pm|{Sm|Eu|Gd|Tb |Dy |Ho| Er |Tm|Yb
138.91 140.12 140.91 144.24 [145] 150.36 151.96 157.25 158.93 162.50 164.93 167.26 168.93 173.04
**Actinide series 89 90 91 92 93 94 95 96 97 98 99 100 101 102
Ac| Th|Pa| U [Np|Pu|Am|Cm|Bk | Cf | Es [Fm|Md| No
[227] 232.04. 231.04 238,03 [237) [244] [243) [247) [247) [251] [252) [257) [258) 1259
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